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QUESTION 1

Which of the following statements about Network Slicing are correct? (Choose three.)
A. Multiple slices create multiple virtual network instances.

B. Unique Quality of Service can be allocated to a given slice.

C. Specific resources can be allocated to a given slice.

D. Network Slicing is a way to physically partitionthe common network infrastructure.

Correct Answer: ABC

QUESTION 2

What does the acronym SOAR stand for?

A. Security Orchestration Automation and Recovery

B. Security Optimization Accountability Recovery

C. Security Orchestration Automation and Response

D. Securitization, Optimization, Access Control, and Resiliency
Correct Answer: C

Reference: https://www.fireeye.com/products/helix/what-is-soar.html

QUESTION 3

In a 5G Transport network, the encryption protection of the user and control plane are provided by which of the
following?

A. IPSec

B. Access Control List
C. SSH

D. X25

Correct Answer: A

Reference:https://www.ericsson.com/en/security/a-guide-to-5g-network-security

QUESTION 4
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Which of the following is not a component of the 5G Flexible RAN architecture?
A. Radio Unit

B. Distributed Unit

C. Centralized Unit

D. Optical Unit

Correct Answer: D

Reference: https://www.hindawi.com/journals/wcmc/2019/5264012/

QUESTION 5

Which of the following technologies drive 5G increased throughput capacity? (Choose three.)
A. MU-MIMO andbeamforming

B. Higher spectral efficiency

C. Network Slicing

D. Multi-connectivity per User Equipment

Correct Answer. ABC
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